29014_A THMEE=EEX AR

7= miiEA

ME
BETHM 1.4308,
B+ K142 1SO 4762 MAAER 1ISO 4032 , NN,

A
KRN AL IR,

BEEK :
ATEENRE,

M4
- EEEMAFE 29050

® D
P s E
| p— - D)
AT
< /_i\\‘ - o1
\ : "
/ ( ©
= || [ 1 L ]
M
U
H
4 R
) n —:__ _q.'}cs
\_ J

© norelem www.norelem.com



20014 A FHMEIEL SiEL AR

29014-112 A 12,1 55 25 304 37 | 38| 325 405 |50 | 5] 23 M6x18 40
29014-114 A 14,1 55 | 18 | 25 | 32 | 30,4 37 | 38 | 325 405 |50 |5/ 23 M6x18 40
29014-116 A 16,1 55 |18 | 25 | 32 | 30,4 37 | 38| 325 405 |50 |5/ 23 M6x18 40
29014-118 A 18,1 55 | 18 | 25 | 32 | 30,4 37 | 38 | 325 405 |50 |5 23 M6x18 40
29014-120 A 20,1 55 |18 | 25 | 32 | 30,4 37| 38| 325 405 |50 |5/ 23 M6x18 40

© norelem www.norelem.com



